

# THE KENTON COUNTY BOARD OF EDUCATION

1055 EATON DRIVE, FORT WRIGHT, KENTUCKY

TELEPHONE: (859) 344-8888 / FAX: (859) 344-1531

WEBSITE: www.kenton.kyschools.us Dr. Henry Webb, Superintendent of Schools

#### KCSD ISSUE PAPER

DATE:

March 20, 2020

### **AGENDA ITEM (ACTION ITEM):**

Consider/Approve Student Activity Fee Requests for Dixie Heights High School, River Ridge Elementary, and Twenhofel Middle School.

### **APPLICABLE BOARD POLICY:**

09.15 Student Fees

#### **HISTORY/BACKGROUND:**

All student fees and charges shall be approved annually by the Board, including any student activity fees, membership dues, or for individual consumable extra-curricular/co-curricular items. All schools requesting additional fees have been approved by their Principal, SBDM, and District Student Engagement Coordinator. If approved by the Board, these fees will remain in effect until there are revisions.

### FISCAL/BUDGETARY IMPACT:

None

#### **RECOMMENDATION:**

Approval of Student Activity Fee Requests for Dixie Heights High School, River Ridge Elementary, Twenhofel Middle School.

#### **CONTACT PERSON:**

**Matt Wilhoite** 

Principal

District Administrator

Superintendent

Use this form to submit your request to the Superintendent for items to be added to the Board Meeting Agenda.

Principal –complete, print, sign and send to your Director. Director –if approved, sign and put in the Superintendent's mailbox.

## Student Fee Forms

# ACTIVITY FEE SUMMARY PAGE KENTON COUNTY SCHOOL DISTRICT

Activity	Fee
Carp Dixil	20.00
Service Services	35.00
Parking Passes	20.00
	·
Student Ambassador grad. Cords	5,50
J	
Athletic Director/Activity Coordinator Approval Signature:	Date:
rincipal Approval Signature:	Date: 3

Student Engagement Coordinator Approval Signature: Mullotte

Review/Revised:8/5/2019

\_Date: 3/16/20

# **Student Fee Forms**

## ACTIVITY FEE SUMMARY PAGE

# KENTON COUNTY SCHOOL DISTRICT

School Name: Liver Lidge Element	Lary	
Activity	Fee	
5+h YRADE END OF YEAR TShirts	B 700	
5th SRADE END OF YEAR TShirtS	#1000	
Athletic Director/Activity Coordinator Approval Signature:	:	Date:
Principal Approval Signature:		
SBDM Council Approval Date: 2/19/20 (Date reflected in SB	DM minutes.)	
Student Engagement Coordinator Approval Signature:	illata	_ Date: 3/16/20
	Review/Revi	ised:8/5/2019

# **Student Fee Forms**

## **ACTIVITY COST FORM**

### KENTON COUNTY SCHOOL DISTRICT

	<u>A</u>			
oach:				
	dividual consumable extra-curricular/cofactivity season.	curricular items	s that will be	surplus
Quantity	Description	Unit Price	Line Total	
Required oth	er individual extra curricular/co-curricula	r fees.		
Quantity	Description	Unit Price	Line Total	
864	Color Run Registration	5.00	4320.00	
864	Color Run Registration	5. <sup>w</sup>	4320.00	
864	Color Run Registration	5. ω	4320.**	
864	Color Run Registration	5. ω	4320.**	
864	Color Run Registration	5. ω	4320.00	
				Date:
Athletic Dire	ector/Activity Coordinator Approval Signa			Date: _
Athletic Dire		ture:		Date: _